temp DegF

temp DegF

temp DegF

temp DegF

sep20 turret room temp

95 [ ‘ 00901
s 200902
= 3200903
85 1200904
- 00905
80 = 200906
= =000907
/5= —
70E =
65 ‘ ‘ ‘ ‘ 3
0 5 10 15 20
hour of day
sep20 turret room temp
95F f 00908
90 E- 00909
= T 300910
85 - 200911
. 200 912
E 00914
/5= -
70E =
65 ‘ ‘ ‘ ‘ 3
0 5 10 15 20
hour of day
sep20 turret room temp
eI Y m— — 00915
= _— 00916
90 — I NP
= / 200917
- 100918
85
— e==60919
80 = —200920
= 200921
/5= —
70E =
65 ‘ ‘ ‘ ‘ 3
0 5 10 15 20
hour of day
sep20 turret room temp
95F — — 00922
= 200923
O 200924
o) S— 000925
e —— Helalalelora
= — = 200926
80 —200827
s 00928
/5= —
70E =
65 ‘ ‘ ‘ ‘ 3
0

5 10 15
hour of day

20



